BIC

log[ Relative Probability ] .

Window Half—Width (km/s)

10%

5%x10°

2x10°

10

50

—100

1000 10*

100

rm420 2/(390890 5359) o 900
— T v T T T T
I Z Z BIC 416102 84 ABIC 0.000 AIogP 0. oooo ]
L : : X% 347099.38 Ax? 0.000 AlogP 0.0000 -
::‘:@— _4:_“ __________ S .. T ... . ..o LT LT A BIC
. ; 2
L X
ABIC —39488 -378.4 481.0 «(
A? —39488 —1486 -1592
5112 ' 5112 5198 5359
A AC5I : AC5FI | | ACsBgF | |
50 100 150 200 250 300 350
350 iterations
rm420 2/(390890 5359) o 9oo
[T T | | |
i BIC 416102 84 ABIC 0.000 AIogP 0. oooo |
______________ — % 347099.38 Ay% 0.000 AlogP 0.0000
L p
L .
I !
- !
I o
L 5112 |5112 '| 5198 5359
-"A'".i'AC;s'!'l'"'AC'F"".':L';"_"'_ """"" ACBgF - - - - - - IR S
| | N | | 1 | | | | | | | |
50 100 150 200 250 300 350
350 iterations
Fe2 232005% 3022+0 km/s
rm420 BLR 5550 NLR 900 km/s
7 T T T T T T 3
e e o o o o o e o e o e ] BLR
I ; ] Fell
_ o — —
--------------------- NLR
o
— T~
5112 ';'51'1'2| 5198 '||| |
| A ACg | ACF I
e C |. L Lol | N ! .
50 100 150 200 250 300 350

350 iterations

kdh1 10-0ct-2021 21:29



